
 

INDIAN SCHOOL MUSCAT 

PRIMARY SECTION 

MID TERM EXAMINATION 

SUBJECT: MATHEMATICS     NAME: 

SET   C CLASS:   III             SEC: 

TEACHER’S SIGNATURE & DATE: ROLL NO: DATE:    

I. FILL IN THE BLANKS.                                                              ( 5 Marks ) 

a. 

 

The place value of 9 in 9127 is ___________________ 

 

b. 
 

The smallest 4 digit number is     ___________________ 

 

c. 
 

The successor of 888 is  ______________________ 

 

d. 
 

9613  _________  8415  ( insert > , < , = ) 

 

e. 
 

1230 -  ______________= 1230 

 

f. 
 

5021 – 5021 = ___________ 

 

g. 
 

8 x 8 =  ___________________ 

 

h. 
 

350 x 3 = 3 x  _______________ 

 

i. 
 

45 x 3=  _______________ 

 

j. 
 

2 x 50 = _______________ 

 

 

           20 



 

II. 
 

Do as directed.                                                                      ( 1 Mark each ) 

a.  Write the place value of the underlined digit.                                     

      1 9 9 _______________________________________ 

b. Write the following in ascending order.                                              

    6186   ,    6781   ,    689    ,     6585 

_________________________________________________ 

c. Write the following in descending order.                                            

     5392,    5932,     6392,     6932 

__________________________________________________ 

 

III.  Subtract.                                                                                            ( 4 Marks )                    

a.   5220 from 8347                                                b.     3456 from 6759 

  

  

  

  

  

 

  c.   3558 from 8706                                          d.    3546 from 6000 

  

  

  

  

  

 

 

 



IV. Multiply.                                                                                                    (4 Marks) 
 

a. Multiply 2148 by 3                                            b.     Multiply 151 by 58   

  

  

  

  

  

  

 

c.    Multiply 1345 by 7                                               d.   Multiply 249  by 29   

  

  

  

  

  

  

 

V. Solve the given word problems.                                                          (4 Marks) 
 

1. There are 2345 children in a school. 1172 of them are girls. How many boys are 

there in the school? 

 

 

 

 

 

 

 

2. There are 144 chalk pieces in a box.How many chalk pieces are there in 5 such 

boxes? 

 

 

 

 

    

    

    

    

    

    

    

    


